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A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Arrangement And Pattern Questions Overview

Arrangement And Pattern Questions have a good weightage in the Banking Exam and the type of question asked in
Banking exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they
have tried to elaborate the concept used in Arrangement And Pattern Questions.

Arrangement And Pattern Questions

Directions: Read the following arrangement carefully and answer the questions given below: 12DIG 15TIN 23LGE
44RSO 18NUG 37S0OY

Question

If all letters in each word are arranged in alphabetical order within the word, then add the place value of the last letter of
the word and the number given in the word. Which of the following word has the highest value?

Difficulty : Moderate Average Time: 46 Seconds

Options :
1. 370SY

2. 44RSO
3. 23EGL

4. 15INT

Solution

The correct answer is Option 2 i.e. 44RSO

Given Series:

12DIG 15TIN 23LGE 44RSO 18NUG 37S0OY
After applying the given condition:

12DGI 15INT 23EGL 440RS 18GNU 370SY

12DG9 15IN20 23EG12 440R19 18GN21 370S25
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= OG/\?Gi — 4

21 35 35 63 39 62

Hence the correct answer is 44RS0O.
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